H & 0l & AHS B Ml A

0248 =04k LBt ot
C 2ol
; Ss0lzas
S3ALE X EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
230l 15,011,966 17,840,008 A2,828,042
= 234,160
[ 2,450,000
Jl 893,500
< 1,569,048
Al 9,865,258
= E 14,038,771 16,771,577 A2,732,806
= 234,160
s 2,450,000
Il 893,500
= 1,143,048
Al 9,318,063
S2AIH K2 6,123,417 8,111,286 1,987,869
= 200,000
s 1,500,000
Il 893,500
= 666,648
Al 2,863,269
SE2sH 2SAH 193,688 176,456 17,232
201 er23| 6,000 7,0%6 1,056
01 AtR2t2|HI 6,000 6,000 0
O=2zta 2tell 500,000 x 122 6,000
307 @I2to| & 187,688 169,400 18,288
02 QIHESAIEE X 59,400 59,400 0
O=xEs | X
50,000,000& * 14| 50,000
OSsEE3sE stu 29
5,400,000& 14 5,400
O=2ZAgs &NH AH
4,000,000 * 14 4,000
03 LM EHE2SHIEX 128,288 110,000 18,288
O=SELEsE 2EEx=
128,288,000 * 14| 128,288
SEESME 29 2,393,636 2,582,790 189,14
202 04| 2,000 3,000 21,000
01 =LHAHI 2,000 3,000 21,000
SEEH S8 221044
200,000 x22H+53] 2,000
306 EX= 2,391,636 2,579,790 A188,14
01 £g= 2,391,636 2,579,790 A188,14
O=Z=23H
2,391,636,000& x14] 2,391,636
SR A 1,030,143 2,171,140 A1,140,997
893,500




M 2s0l=1
M Btli=ds
Chel: SSHAIE AR (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 106,648
Al 29,99%
201 er23| 3,000 1,500 1,500
01 At2teltl 3,000 1,500 1,500
O=2stsedte 82 3,000,000 *14! 3,000
301 eEtE N = 1,027,143 2,169,640 A1,142,497
) 893,500
== 106,648
Al 26,99
01 A2 HSHS(RNEERTHE) 1,027,143 2,169,640 1,142,497
OSS250187 A (25Hr29HS)(132+
) 1,027, 143,000 » 14} 1,027,143
) 893,500
& 106,648
Al 26,99
FSEAl AP 2,070,750 3,000,000 A929,250
= 1,500,000
< 450,000
Al 120,750
201 er23| 46,000 74,000 /28,000
= 23,000
== 6,900
Al 16,100
01 AtR2t2lt] 26,000 74,000 /48,000
O3 ARAZ 22 &4 =5 S
100,000 x10E ~42] 4,000
= 2,000
== 600
Al 1,400
O=23=Al 2HEE & 82 S 22,000
=2 Al 820t HEE
500,000 42| 2,000
= 1,000
S 300
Al 700
-2 cEH, SF S g2=3 MR
10,0002 %2,000H 20,000
[ 10,000
= 3,000
Al 7,000
03 A= SHI 20,000 0 20,000
O=2ztet2A 284 20,000,000 x 14 20,000
[ 10,000
= 3,000




A 2tz
M Btli=ds
©el: 2SHALE XA (EEEE))
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
Al 7,000
202 04| 4,000 3,600 400
[ 2,000
= 600
Al 1,400
01 2L AL 4,000 3,600 400
OS2tz Al R 22/0H|
200,000 x2H* 103 4,000
[ 2,000
= 600
Al 1,400
308 AXIHMSOIA 1,507,000 2,120,000 613,000
[ 1,100,000
= 330,000
Al 77,000
18 S| 2SS XA AIE 1,507,000 2,120,000 A613,000
O2tT Al ZEAHH
1,507,000,000& *14] 1,507,000
[ 1,100,000
= 330,000
Al 77,000
401 Al HIZ S OHHI 513,780 800,000 A\286,250
[ 375,000
= 112,500
Al 26,250
01 A=l 513,750 800,000 A286,250
O2tz Al 2etE2 =4
513,750,000& 14! 513,750
[ 375,000
= 112,500
Al 26,250
=S 50,000 80,000 /30,000
307 gl2to| & 50,000 80,000 30,000
02 QI AAEE X 50,000 80,000 /30,000
OZuE3HlA XI& 50,000,000& *14! 50,000
SEH IS 2UHIAR A 385,200 0 385,200
= 200,000
= 110,000
Al 75,200
201 L= 4,000 4,000
01 AtR2te|H] 4,000 4,000
HHDQ BWIRE HHLY
400,000& x10&*13] 4,000
202 04| 1,200 0 1,200




23H0l=2t
2M=dE
StAIE K& EEED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
01 =WO4bI 1,200 0 1,200
O=EA J|SD 20IHAZ 28 4=
22| 0| 200,000 *3F *23 1,200
401 A& B2 20HY| 380,000 0 380,000
= 200,000
& 110,000
Al 70,000
01 Al&HI 380,000 0 380,000
OsXEd J|su 2SR 214
380,000,000 * 14! 380,000
= 200,000
& 110,000
Al 70,000
FZotll=gs K& 7,591,163 8,249,449 A\B58,286
= 34,160
iy 950,000
T 476,400
Al 6,130,603
A=A el4d] 3,652,057 3,567,626 84,431
301 LetENZ 3,652,057 3,567,626 84,431
2= - 23 3,652,057 3,567,626 84,431
OAH ekt ct 1,786,025
X2 Xt 48,226
dlE2sg 3,229, 1702« 18+ 128 38,751
s 675,900 x 15+ 123 8,11
SRRy 113,600 1H+ 122 1,364
~CHRE 24,223
dlE2sg 1,551,900« 18123 18,623
s 390,003 x 1+ 123 4,691
S P 75,7003 x1F 128 909
AR Eaga 137,536
dlEeg 1,457,300 6 = 12& 104,926
OS¢ 377,200 6« 12& 27,159
S 75,7003 «6H =123 5,451
& XA 136,175
A== 1,457,300& 6 F 123 104,926
OS¢ 377, 2003 x6H « 12& 27,159
CE Ay 56,8002 62 122 4,090
-steictel 2,575
OlRey 1,457, 30021%412* 122 716,992
Olls==g 377,200 x41H 123 185,583
|2 984,215,640&*4/12 328,072
-JIE=4 2,900,000& =128 34,800




M Zstollsnt
M 2Hi=dE
ciel: 23tsEE N (cr9): &2
RA - BH - SHIEN) - HRAY - BAS ol &t A HIDEZ
-2 Z0H| 934,215,640 x50%+2/ 12 82,018
==l 140,000 «55EH  12& 92,400
OAEEEH 716,765
LY, 39,613
2 2,782,080 1123 33,385
Cls=E 405,300 «1H* 123 4,864
QESRS R 113,600 x1&* 122 1,304
-G & 21,929
2 1,368,680& x1H 122 16,425
-Ois=E 382,900« 1H 122 4,59
RPN 75, 70021%1 % 122 909
QI A 37,571
e 1,152,800& «2H 122 27,668
-Os=E 336, 9003 x2H « 128 8,086
- DG 75,7002 * 128 1,817
—ar e 393,282
e 1,152,800 x22F «12& 304,340
-lls=E 336, 9003 x22H + 123 88,942
-2 381,815,520 *4/12 127,272
-5 1,800,000& «12& 21,600
-2 F0H| 381,815,520 *50%*2/ 12 31,818
-FAS4H| 140,000& x26H * 122 43,680
OANEeEH 282,802
-2 X 33,747
Jl2eE 2,327 120318+ 128 27,926
-Hls=E 371,403 x1H 128 4,457
L EBAY 13,6002 124 122 1,364
-HRE 17,043
Jl2sE 1,041,300« 1H 122 12,496
CUse=E 303, 1002 x1E+ 128 3,638
CRmag 75, 70021% 124 122 909
S 21,024
JlE2sE 1,292,030« 1F 122 15,505
COsE=E 365, 100« 1H* 122 4,382
- DG %, 70021128 1,137
—ArU R 125,136
2 1,152,800 x7 B+ 123 %,836
-Os=E 336,002 +7H+ 122 28,300
g 152,760,600 *4/ 12 50,921
-IEE 450,000& « 122 5,400
-HES0t| 152,760,600 *50%+2/ 12 12,731
-gAgald| 140,000 x10E < 12& 16,800




SH: 28051
M Btli=ds
ool 2stizEs N (cr9l: &g
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
OAgagAadgstH 67,251
-HiaY NEX =
1,633,420 x 18+ 122 18,402
=R 23,124
JlEeg 1,449,740 x 18~ 128 17,397
Cls=E 401,5003x12+12& 4,818
R By 75, 700212 122 908
—HlAre) BIET} T =ag
629,790« 1H 122 7,558
~HIAY QDT Jl=ag
629,790 x1E~12& 7,558
AL S 17,396,880 *4/ 12 5,79
-ESE 140,000& * 122 1,680
-GS0l 17,396, 8802 *50%*2/ 12 1,450
-gAZAH| 140,000& x 1= 123 1,680
OAlgA=E 100, 141
e 21,353
JlE2eE 1,329,720« 18~ 128 15,957
Clls=d 373,9003 1122 4,487
A 75,7003 18 x 122 909
- YA 53,630
JlEsg 1,152,800 x3&* 12 41,501
lls=e 336,900 «3H 122 12,129
A=t 43,097 4403 +4/12 14,366
-bESE 40,000 * 122 480
-2 S0l 43,097 , 4403 *50%+*2/ 12 3,592
- HSAHI 140,000 x4 x 122 6,720
OAlg=22 74,049
-2 18,260
Jlgsd 1,153,220 x 12 » 122 13,839
COsE=E 176,500 x 18 » 122 2,118
x|t 127, 90021 % 128122 1,585
AR=g 64,0003 18 * 122 768
—u== 33,450
g 1,153,220 x2&* 122 27,618
Clls=E 176,500 2+ 122 4,236
Ag 64,0002 28 122 1,536
A S 41,515, 9203 +4/12 13,839
-EE=Hl 41,515,920 *50%+*2/ 12 3,460
- A G A 140,0002 =3+ 122 5,040
OF82d=+¢ 200,000 x26E ~ 128 62,400
OAgli=t 4HEE= 381,624
-ALEE= 3,391,248, 5403 x3.545% 120,220




A 230=Dt
M ZIo=RE
tel: Sti=gs X (St &)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
-HIIRYEEE 120,219, 770& *12.81% 15,401
-0z 3,391,248,5403 *4 . 5% 152,607
-IE8Es 3,391,248,5403 *1.75% 59,347
“HEE =S 3,391,248, 5403 *1.004% 34,049
OAlgtliscd Rz
25,000,0003 42X 100,000
OAglistd 3¢
30,0002 * 102 % 102 30,600
OAgll=t 2z
600,000 x7F*12& 50,400
ANEH=sd 28 & X 546,404 679,704 A133,300
201 Let23| 101,504 157,154 A55,650
01 ArR22eltl 96,224 150,554 254,330
Oger=Z| 41,020
-ANE=HM 29 41,020
HAEE 200,000 *6IH S+ Al 1,200
~AFRI1D] 520,000& =123 6,240
- SAEX 23,0002 x6H EF M|+ 102 A 1,380
CANRES 400,000+ 12& 4,800
S0l EA
250, 0002 *2CH*6IH S+ Xl 3,000
0| dIgR 120,000& * 12& 1,440
2IIFE)| dE=
40,0003 «2CH*12& 960
ol A23(2lE &)
2,000,000 14 2,000
o 2l & ZE(Tote S)
10,000,000 & * 14! 10,000
o8 Hz @ 2l
500,000& *20= 10,000
OANglist 233K AF 15,000
-AEl=E 28 A3
5,000,000& * 14! 5,000
-AEREH SR8 MEH B
3,000,000 14 3,000
-ANEREH 2837 S
500,0002 *10MI E 5,000
A=Y HE SLHI(RER)
2,000,000 14 2,000
O=&Hl 2,304
“AENsE B & AE @A oS
8,000 x4 +63| x 122 2,304
O1l=hl 37,900
-AEEEE 4,500
ZEPHEE|(AT) 100,000 30 3,000
Cda 2 AH0Is 500,000 x34 1,500




SN 2sts
M 2502 xE

o 23tizEs XA (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-AERECHEE HE oY HEH)
1,000,000 10 10,000
A=< 6,600
- EAe| 9 250,0003 x4 1,000
CRE oY 400,000& x 12& 4,800
Jok= < 200,000 x4 & 800
AN ENSENE 16,800
=i NS 300,000& 40 12,000
- TE HE 90,0002 x40 cll 3,600
INEDN;
600,000& 2 1,200
2 s5=34l 5,280 6,600 1,320
O33g2=s € 5,280
X33 o
55,0002 +8LH* 122 5,280
202 04| 2,400 3,600 1,200
01 SLHoIH 2,400 3,600 /1,200
OAMNEllzE AFSAH & =AM &S
S 22l0| 200,000& x3E *43] 2,400
301 EtE N = 431,200 444,100 A12,900
2ozt - 2SFsS2HS 431,200 444,100 212,900
OAlE ekttt 142,000
- 18,000,000& *43] 72,000
-SEoxS 50,000
sE s 20,000,000&*13] 20,000
2024 Wet
30,000,000& *12] 30,000
-EE2= HMH
20,000,000& * 14! 20,000
OAlgEdH 64,000
-gJ18¢ 15,000, 000& »23] 30,000
-JIEEA 12,000,000 *12] 12,000
= 12,000,000 *13] 12,000
-E2= N S gAY
10,000,000 * 14| 10,000
ONE=RsH 48,000
-EJ|1E8¢ 20,000,000& *12] 20,000
-JIE3A 18,000,000& x12] 18,000
-E2= N S gAY
10,000,000 * 14| 10,000
OAlgA=H 40,000
-EJ|1E8¢ 15,000,000& »23] 30,000
-S2= & S A=Y
10,000,000 * 14! 10,000
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2A:

Zot0l=1

33 230=8sE
el Etoizgs N (SH9 H2)
2 - IE
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
“SZ0=M S Al
100,000« 15 *13] 1,500
—Z2tHAL Al SZI HIE
100,000 *10H 1,000
-E2SEA AlY SEEX & AT Y
4,000 100K 400
202 04l 1,600 2,400 A800
01 2LHoIH 1,600 2,400 2800
2ASES=ARL L SEES 220
u 200,000 x22H *43] 1,600
301 EetE2 NS 960 3,520 2,560
11 #AIAHIXIE S 960 3,520 2,560
O2tdAr &=l s AU
8,000& * 10 +5IH EH A 400
O=2ztdlAL 2453 &4 a4l
8,000 x10H*23] 160
Otil=At =2 345 AN
8,000 10 +5)H Al 400
307 @120l & 684,170 978,250 A294,080
02 QB HANEER 641,420 933,250 A291,830
OHMI73l stEAet MUz
15,300,000 * 14} 15,300
Oot2LIJL 2= B2 HF3
2,000,000 *14! 2,000
OTEANIt SatetnzE 'St 013
& 6,000,0002 %144 6,000
OHMI183] 22|02 EHOLEHI K AHIE (KOMAS)
15,300,000 * 14} 15,300
ONiegzl 0=t Hzl
9,000,000 *14! 9,000
O24 22 82343 HE
40,500,000 * 14 40,500
Oodgileitgsl dEXad '2g!
2,000,000 *14] 2,000
O=30=Me SZANEH WS
1,000,000 %14 1,000
OLgloe J8k=&
1,500,000 *14] 1,500
Ost{ S HAHAEIE iz
4,000,000 *14] 4,000
Od&0l A= FESA =
4,000,000 14 4,000
OH19al 2s0Iidsd=F883HU2
16,000,000 * 14 16,000
O2Jel2sto=8s FIIgdd & 3¢
3,000,000 *14] 3,000
OXlggls gt A2IUR2ME
1,000,000 %14 1,000




SN 2sts
M 2502 xE
ol 230=ES X

2 ~ SIE]
SA - B S(BH) - MRAY - BES Ofl e
OS5t UE =ZMHE W
2,000,000 *14 2,000
ONIMEl SENSF-HENA0I2Y DEH
3,000,000 14 3,000
ONI208] SZOILEI} HIIBIAH
3,000,000 14! 3,000
ORI98l SELABET FI|20
1,800,000 *14! 1,800
OSZAIRID BBAS 98t 2HBME
1,000,000 * 14! 1,000
OCIAIOIZ Y 2AAES HIIAFS]
3,600,000 14! 3,600
ORI168! et 2= 020
66,000,000 * 14! 66,000
Oolz4lg 98 28T N
1,350,000 * 14! 1,350
O"xR" & 34 1,000,000 * 14! 1,000
ORm9sl 218Lis RSB2X L A=]8]

cloItHal 2,000,000 *14] 2,000
OHMI102 THetel= EatMoItHs

2,000,00021 14! 2,000
Ostn=Z20)y E2¢2

2,500,00024 14! 2,500
Oslgel 2ME 1,000,000 %14 1,000
OF 042l 0128 HAZ

2,000,00021 14! 2,000
02024 PAR 012501 LISO| ZiLITH

2,000,00024 14! 2,000
02024 e JLRH| 70,000,000 *14! 70,000
ORI163] XHoi Dt AtRIE

2,700,00021 14! 2,700
OdTmAaz| Borg Wi

3,600,00024 14! 3,600
ORl0E STSE| HI|F3)

1,000,000 %14 1,000
CEVEEIBIE- 1,000,000 *14! 1,000
ORI23 By SHHESIDEH OIS0

= 4,000,00024%14! 4,000

ORlBAs] STLHSH AlAA U oilzelol g

18,000,000 14} 18,000
0204 S0l 00! A5t AIOILH L &

2B 1,500,000 %14! 1,500

0204 F0Pl= Gl

5,000,00024*14! 5,000
O2L-3= He1EH

8,000,000 *14! 8,000

OuE=Eo H(z2)FI2HA S23

9,000,000& 14! 9,000




M 2s0l=1
33 230=8sE
el Etoizgs N CEEREE
~ _ q 4
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
O2024 2= Olz=2 eI
6,000,000 14| 6,000
O2024 B4 AH{QIM TH0IE
1,000,000 *14] 1,000
02024 SEAIQN e kte
6,000,000 *14] 6.000
ONl428] SZASH KAl
2,200,000 %14 2,200
ORMl42e] 8&A=HM &t
2,970,000& *14] 2,970
ONess] SESUASZ AU N
2,200,000 14| 2,200
ON3A2 dgHAHASH FOt
3,000,000 14| 3,000
OSZNEH(SMUFH)
1,000,000 *14] 1,000
ORNI232| d=stEAS20U2 Wz
4,500,000 *14] 4,500
OMMAHE HEHA 8,000,000 14| 8,000
ORM2138 Metge ModZal Al
5,000,000 14| 5,000
ON332 HSREM SEUHE £
6,000,000 *14] 6,000
O&l= st BICHALETH 2]
10,000,000& * 14 10,000
OS2z Al SE-Z8 UFA
2,000,000& %14 2,000
O=k1zd Esiil=M
18,000,000 * 14} 18,000
O=xE-g= llzusd 2 AMOILE
6,500,000 14| 6,500
ONI3B2l Dl=0lol & & Al&tA
2,000,000 %14 2,000
ONessl SZUsH E=2SS3 AU
7,000,000 14] 7,000
OR83d 'sx & LI=0I
1,500,000 14| 1,500
ONessl SZEH =M M=astd=AH AU
2,000,000 %14 2,000
ORMI453] &=l 3,500,000 14| 3,500
ONpal SEH==ABAWS] I
45,000,000 %14 45,000
OXgal Helsdd=28Z AU
10,000,000 *14] 10,000
OHMieal B2sHIHH 5,000,000& *14] 5,000
Oz W BSAHA22 MIICH
2,000,000 14| 2,000
O=ctd= dJ|1=sA 1,500,000 14| 1,500




2X5: 250t
i 230=sRE
el 2stoi=gs X (S &S
- _ S[E]
SA - B C(BH) - MISAY - BAS Ofl Aot 05”&5 HR=2

OAI2t eIt <cl &0I%ICH

OHN212l detegde =40l Agt

O2024 2SS EotE2HMl KA

OHNE =25188 SIS

ORMibal A0IEE AXA JHE

OSZRH SN MAIHE

ON132] SZAAASIM I

4,000,000 14!

8,000,000 « 14!
9,000,000 * 14!

8,000,000 * 14!

2,000,000 %14

OHMIB13 3IAM(SEHA0I=2 0/2HA)

9,000,000 * 14!

O2024 Hot24Y 2AAER FIIEH

7,000,000+ 14!

3,000,000 *14]

3,000,000 *14

5,000,000 * 14!
5,000,000 14!

3,000,000 *14

S48

4,000,000 * 14!
3,000,000 *14]
3,000,000 %14

ro

2,000,000} 14!

slaw
2,000, 00084141

OUoIR4401 5085 5|AH

1,200,0002 %14

5,800,000 * 14!

7,200,000 * 14!

3,000,000 *14]

2,000,000 %14

15,000,000& *14]

OUS0l Jt8el gisst JISARNE

5,000,000 « 14!

4,000

8,000
9,000

8,000

2,000

9,000

7,000

3,000

3,000

5,000
5,000

3,000

4,000
3,000
3,000

2,000

2,000

1,200

5,800

7,200

3,000

2,000

15,000

5,000

5,700

5,000
9,000




M 2s0l=1
M Btli=ds
tel: Sti=gs X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 PRI N 2T B X 42,750 45,000 72,250
OSZHS Za2gy
42,750,000 *14] 42,750
=XHE 0= 22l & 29 257,073 518,945 N261,872
101 21A4H| 44,539 44,701 A162
04 JIZtN2Z2 XS 44,539 44,701 A162
OL&Sli=sd 2l SF8H| AURY 29,327
-JlZs 78,8803 x1H 250! 19,720
-=s5=g 78,8803 x 1 +52 4,102
—2FAMH| 2,000& x1& =250 500
—MBYZ BHAY
120,520 x1&* 122 1,447
“WSEXs 50,0002 x1& » 122 600
-He=g 118,320 x 1 & x25& 2,958
OJIZMZ2 2 4HEE J12RE3 3,246
—=UASEES 28,827,000 *3.545% 1,022
“HIQAEEE 1,022,0002%12.81% 131
-=0H=s 28,827,000 4. 5% 1,298
-UESEES 28,827,000 *1.75% 505
“MHEE = 28,827,000 %1.004% 290
OJINZ22X &&=
2,500,000 %124 2,500
OxHZ2H22H A S o9y
78,8802 *1H*1202 9,466
201 er2 3| 176,384 195,524 219,140
01 At2teltl 57,938 61,904 A3,966
Ogegt+=ZHI 31,978
-SAEX 23,0002 x52 Ax 12 x70% 966
“SAPD EXE 180,000 *1CH* 122 2,160
-SfE2Eal Hall| 300,000 *12] 300
-E2E NH 1,000 *1,0005+32 3,000
gl TUEZ Hassa
800,000& *12 800
=283 FASEAH| 3,000 x550m’ 1,650
-MYD|ISEH S5 7Y
1,4703 5001123 882
-SIEA ARFE P2
300,000 x 122 *7(f% 2,520
—AYotM | HRUEsrE
500,000 * 122 6,000
“QRUAAIE A=H| 200,000& 22 400
“HOIAEotE e Tl =2
300,000 * 12 3,600
-LeHIOIH g2 =2
150,000 x2CH* 122 3,600
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SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
~2|HIOIH HIIZA
300,000 *2CH*13 600
-J3tx A 1,100,000 & *23| 2,200
-H=D| gz 40,0002 +2CH*12& 960
-2JIEE)| dEz
35,000& x2CH+12& 840
-Hiol dE=s 25,0002 x4CH*12& 1,200
-=J1,A121, =01 e
50,000 *3&+*23] 300
oYx2 2,000
NE 222 (SWENY, XY S 22)
500, 00024 43! 2,000
OL® ANNE Do W WYY
500,000 *10& 5,000
O=gt| 960
SO 220 S20A|
8,000& x2H 52« 123 960
Ol AlelZ MZ 2 JIE A2 THEHI
s 2,000,000 *13] 2,000
Oo2gs4 6,000
—2glAs BALY
70,0003 *10F *23] 1,400
“SAIGH DE 2 MEZZ2OY 2AL =F
150,000 & *2H +63| 1,800
-HAIESAY SRR =2
100,000 *14Z*23| 2,800
ODIZBEI L HEXIAY|
10,000,000 & * 14! 10,000
02 324l 93,446 98,620 A 174
O3=SIZLHA 60,800
aPIVNE=3=d 4,000,000& 122 48,000
—aot=EAEE 500,000& =123 6,000
-201ZHl 8492 400,000& 128 4,800
LV RAE=Z 20,0003+ 12& 240
-d3 2 CIHYRZ 60,0002 122 720
-RURS 630
- otH 4002 *30021*43] 480
S)|*H 2,500& x5+ 128 150
-AOIETVElZE 15,0002 x2CH+ 12& 360
-2 2O E | 50,0002 *13] 50
OH=H| 696
-HIA4EXAI| HZH| 1, 7402 »400L*1CH 696
OAIZEHIR I 28,750
A BS Ald RXIHI
1,250,000 14! 1,250
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tel: Sti=gs X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-88 dZ24H| FAY 450,000 *14] 450
-IE2S AlE= | 1,800,0002 %14 1,800
-S0Y il Ald R
6,000,000 * 14 6,000
-Hl&gdD] RX| 1,250,000 *14] 1,250
-g2.g87 RAE=t
1,000,000 *5CH 5,000
“AYAE (A EFBEIQ 7E)RA2AL
Bl 3,000,000 %14 3,000
-CASles30ls2 AS KA
4,000,000 * 14 4,000
DIEIAIE(B32E, s3HX) 02U 7
Al2tell 1,500,000 *20H 2 3,000
JIEIAIE (2 atg A R) |A2el
3,000,000 *14] 3,000
OXFE 28x 800,000 42| 3,200
03 Ar=EHI 25,000 36,000 10,000
O"gAr=&HI 25,000
—AIER S D12 A
10,000,000& *12] 10,000
Oz 2% &F ==SdAl
5,000,000& *12] 5,000
-0(8) 2| JISHE SLII=ETA
10,000,000 *13] 10,000
202 04l 800 1,500 AT700
01 =LHNHI 800 1,500 AT700
Oll=2t AlE2st & S22 2210l
200,000 x2H *23] 800
206 M=l 6,750 6,750
01 M= HI 6.750 6,750
(ORLYNF=10] 10,0002 *50H 500
OTAIS &2 &= XXl
50,0002 *507K 2,500
OFAICH ME =208 Wi M& 2 M2
- 1,000,000& %12 1,000
O822 8s g, g 2
25,0002 *50H 1,250
OJANEE A2F (=) 242 95
) 50,0002 x105+13] 500
OTIIAE T (RIED] 2 45)
1,000,000& %12 1,000
207 ARl 2,600 0 2,600
02 MAHHZHI 2,600 0 2,600
O&S0l=2 SHOIX |2+
2,600,000 *14] 2,600
301 EtE NS 18,000 18,000
14 IIEt2 83 18,000 18,000
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=aak

Zot0l=1
Sot=dS
Estolzgs N

SA - ZE . BR() - HRAR - BES of v G o HIDE2
OL-HZ0I£2 NASAR Abl2aZ 18,000
LHE0ET TEE AHIRAD
25,0003 x4 x 152 x 12 18,000
401 Al&HIZ S HY] 8,000 61,000 153,000
01 Al&H 8,000 161,000 153,000
OAl&H| 8,000
“CR20IEE FH S2F
10,000,000 141 %80% 8,000
XNAHEZHM =N XB(S2)(HEALY) 140,000 140,000 0
= 70,000
Al 70,000
307 el2to| & 140,000 140,000 0
= 70,000
Al 70,000
04 DIZFSHAFAI 2 X 140,000 140,000 0
ORI248] STLHIHOILH AL
140,000,000 * 14! 140,000
== 70,000
Al 70,000
REl=E2 22 & 2 99,939 301,470 A201,531
101 @124H| 31,783 31,612 171
M ORINZZE2NSE S 31,783 31,612 7
O=Eli=t= AME & 2Z3H| o2Y 26,369
-Jl2s 78,8803 x1&H*250 19,720
=5+g 78,8803 18 x52 4,102
-2HAMH| 2,000 * 18 =250 500
-HEUs 2L
120,520 x 1 x 122 1,447
—uSEXS 50,0008 x1&* 122 600
OJIZMZ2Z2 A 4AHEE JI2RE =3 2,914
-=QALEEHZ 25,869,000 *3.545% 918
-HIeLEE= 918,000 *12.81% 118
-=2H3 25,869,000& *4. 5% 1,165
-UEEEE 25,869,000 *1.75% 453
“MHEE = 25,869,000 *1.004% 260
OJINZ22X &&=
2,500,000& «1H 2,500
201 Ler=23 | 65,306 69,258 A3,952
01 AtR2telHl 28,726 31,978 A3,252
Odgt+==H| 27,190
-SAEX 23,0003 32t Ax63] 414
-SAPD EXE 180,000« 12& 2,160
-E5| HE (MR, 30T, Hs5d &)
25,0002 +5CH~ 122 1,500
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RS EEPIEEE
150,000& * 12 1,800
224 MHHEE U ==
800,000& *12] 800
-4t 3] 50,0002 %12 50
-Ag ordEe| 2% el
500,000& * 122 6,000
-S2J| I A 300,000 12 300
-S| | 2yl
180,000 *1CH* 12 2,160
“HIIAE HIIZBA =22
800,000& %12 800
8D erdate] g% eyl
200,000 x 12 2,400
=83 FA=SY| 750,000 22 1,500
2| H&AIE A=H] 200,000 *22] 400
-3t HAH| 1,000,000 %12 1,000
SE3d A ESF S
500,000 x 122 *7(f% 4,200
-SEH S5 78 1,470 %400~ 123 706
-RElzE2 g2 MH
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~SEzo S04l
8,000 2+ 12 1,536
02 s3=gHl 36,580 37,280 AT700
OZ232= 2 HMAl 26,580
-R013H| =2 200,000& * 12 2,400
-HJI23 1,800,000& «12& 21,600
-dotre s 100,000& * 122 1,200
-H3es 50,000& * 122 600
-RAOgs= 15,0002« 10412 180
-RERS 50,000 * 122 600
OAlZ &8I Xl 10,000
-FE0=EI2 Ald 2K 224
10,000,000& * 14! 10,000
202 04| 400 2,100 A1,700
01 =LHO LI 400 2,100 A1,700
Ollz=& S A& st & 82 220U
200,000& 122 400
206 MH=Hl 2,450 3,500 21,050
01 MZH| 2,450 3,500 1,050
Ods, 81, ZEEX Mg 2
2,000,000 12| *7(f% 1,400
Osg, st Mz 7
1,500,000 x 12| *7(f% 1,050
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A0z 28X 83,000 88,000 0
= 26,400
Al 61,600
307 el2to| & 88,000 88,000 0
= 26,400
Al 61,600
02 QIZtEHAEE X 88,000 88,000 0
OtldDls2 22X
22,000,000 *14! 22,000
== 6.600
Al 15,400
Oxtlls=2 28X
22,000,000& » 14 22,000
= 6,600
Al 15,400
OZ=zll=2 22X
22,000,000 * 14! 22,000
== 6.600
Al 15,400
OS2 2YX
22,000,000& x 14 22,000
= 6,600
Al 15,400
SsAAL X2 10,040 10,040
201 fer= 3| 8,840 8,840
01 At 2|l 8,840 8,840
O=g=4g 6,600
-NEARE A2E
200,000 x8H*32 4,800
-2t A2eE 200,000 x32H+33] 1,800
o=l 2,240
- 4 S20A
8,000 x2EH*x20L 7S 2,240
202 04l 1,200 1,200
01 2LHoIH 1,200 1,200
O=3t0iliz BIxIorR 220l
200,000 x22H+33] 1,200
SI Music Play 34,700 34,700
201 er=23y| 33,900 33,900
01 AtR2t2|HI 33,900 33,900
Odgt==d| 4,500
- EA RHENRESE 7Y, SADI R F
Il it 8) 9,000,000 141 %50% 4,500
O=gl 2,400
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—SAEH0] 42 S20HA
8,000 x6ZH+202+30H 2,400
o2gay 27,000
N2V 2L
200,0002 x10& *43] 8,000
-2t A2eE 200,000 x2H +53] 2,000
e O SES=
100,000 x 102 *43] 4,000
-NIStA BOIRIE S At=E
300,000 * 102 3,000
~2IThE AAS
500,000 x5 *43] 10,000
202 04l 800 800
01 =LHA LI 800 800
OBt XIAHHl S4=Atell #IX|0HY
200,000 x2H+23] 800
A4S So0isAEEE 105,000 230,000 125,000
201 et 3| 105,000 230,000 125,000
01 AtR2tc|bI 85,000 205,000 120,000
OLE2eAtY S2H| 85,000
-2 - g &0 70,000,000 141 %50% 35,000
-2ctel 0100 82
100,000, 0002 * 141 %50f% 50,000
03 &A=& 20,000 25,000 25,000
OLE2=AIY A 2
20,000,000& * 14! 20,000
SENHE Al SEMG(FAEX) 1,900,000 1,300,000 600,000
= 950,000
=S 380,000
Al 570,000
201 et 3| 1,840,000 1,270,000 570,000
[ 920,000
= 368,000
Al 562,000
01 Al 22| 135,000 50,000 85,000
OLOIE HRE T2 HL(SE 9
Ea0l1) 110,000, 0003 * 14! 110,000
[ 55,000
= 22,000
Al 33,000
OSE ED0g A3 & 2H(AE0H 8
ZEE0™) 25,000,000 * 14! 25,000
= 12,500
= 5,000
Al 7,500
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Ogore MBS Z208 HE(2USY
= =z} 2zl
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Al 49,500
301 EtE N = 60,000 30,000 30,000
= 30,000
& 12,000
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09 2IEl=E 0| 40,000 15,000 25,000
OLoiE HRE T2(SE QXY
D) 30,000,000& x 14 30,000
= 15,000
< 6,000
Al 9,000
OSZE S0 43 & 2S(MEN 5
ZEEH0E) 10,000,000 * 14 10,000
[ 5,000
= 2,000
Al 3,000
11 #AIAMHIXIE S 20,000 15,000 5,000
OYBIED HBY T2 HY (2L 2X
=a0l) 20,000,0003 *14] 20,000
[ 10,000
= 4,000
Al 6.000
SN 324,191 410,842 86,651
SELESH2 22| & 2E 264,791 312,912 A48,121
101 212A4H| 26,462 3,641 22,821
04 JIZtN2 2N S 2+ 26,462 3,641 22,821
OSsz TEHH L BRI ol2l (M
YSEXSY ZF)
84,8002 x6EH x2 2L *23] 2,036
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OSsta 8+ MKl LY (MEASDH
£ HIEH) 84,800& x5 x2 2 x23| 1,696
OSESE IE L ALR2) JI2HH 22
= 18, 181
-J|lE2 78,880 * 1 x 150 11,832
-5 78,8802 x1Hx30L 2,367
—2HAH] 2,000 *1H» 150 300
—MBYZBRAY 120,52021+121+6 724
S22 78,880& *1&H x252 x150% 2,958
OJI12tHl 22X 4UEE D222 2,049
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18, 181,000/ *3.545% 645
-AI|QUABSE JAREZ
645,000 *x12.81% 83
=202 J|2AEL=2
18, 181,000& *4 . 5% 819
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N8B JERe3
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OJI2ZHMZ22 A El1& =2 2,500
J|I2HHZ22A 22
2,500,000& *1H 2,500
201 LBr2AH| 168,479 185,821 N17,342
01 AtR22t2|H| 86,544 89,886 N3,342
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-SAIEZX 23,0003 x5t A 128 1,380
-CIXNEsEDIMNEE 160,000& *x 128 1,920
-22t=2AD| EHFRY
330,000+ 1 Ll x4 AH 1,320
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s) 100,000& x 128 1,200
FAZ NEE Fa2 7Y
100, 000& x50 * 13 500
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1,850&*1,600E x13| 2,960
-25t2 oLl 22X HIE
700&*2,00082+15 1,400
28 THIISK JISH M
70,000& x5 350
N I CIET P
220,000 128 2,640
R ST
20,1802 x5[Hx 128 1,211
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O&AIZ ST F 1,000,000 *14] 1,000
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O ald ZStHIAEIE 7,000,000& 12 7,000
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201 =3 13,430 14,930 21,500
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OS2y Nd= 30,000,000& 1= 30,000
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230 =t
Y2 ZHI(2a0=1)
Jl2ZHI(23t0li=1t) STRFSEED
SA - B - SRUBH) - MRAR - BAS A HIDEZ
Jl2dtl(2stol=n) 88,440 117,380 A\28,940
201 Zet=d] 35,160 36,260 A1,100
01 At2teltl 35,160 36,260 1,100
Oget=ZHI 19,100
-JE2AFS S| 100,000& *21&H 2,100
-SAEX 23,0002 x200* 122 5,520
-S| ZeE gx=
330,000 x2J = 12& 7,920
-t JI2EASSH| 150,000& * 12 1,800
-gJ| gXz 30,0003 x 12 360
—ZHA Al S22 K&
100,000 * 10H 1,000
-ESEAL AlY SEEX & A
4,0002 *1007K 400
o=l 15,360
ESSHA QREF S2PAY|
8,000 x10H 82+ 122 7,680
-LEM AL FRFT S200AHI
8,000 x10 8 * 122 7,680
O=28+¢ 700
-=230=dE0IS 2/ ATH =
= 70,0002 %102 *13] 700
202 04| 50,400 76,800 A\26,400
01 SLHo4HI 50,400 76,800 A26,400
O=3tlilz &RF2 20
20,0002 21 *102] « 12 50,400
203 HR=H| 2,880 4,320 A1,440
M EAEZER=A 2,880 4,320 1,440
O2toll=1 300,000 122 +80f% 2,880




